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	Case Study 10

Wage freeze or closure

	Situation

An American multinational consisting of 15 production sites in 10 EU countries and with rapidly declining profitability makes the following proposal during the annual meeting of the European Works Council :

· wage freeze in all the production units for three years ;

· in exchange, 10% of the company's shares will be offered to the workers at 50% of their value ;

· if the proposal is not accepted, the central management of this multinational intimates that it would consider closing 1 or 2 sites in the EU countries.

Task

You are the EWC, with representatives of all 10 countries.
Try to establish a common position for the European Works Council.
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